11th Class Mathematics Objective Paper Group 1 Lahore Board 2024 %pakmty.()fg}

Roll No ( To be filled in by the candidate)

MATHEMATICS ( Academic Sessions 2020 — 2022 to 2023 - 2025)

Q.PAPER - I ( Objective Type )  224-1* Annual-(INTER PART ~1)  Time Allowed : 30 Minutes
GROUP -1 Maximum Marks : 20

PAPER CODE = 6195
Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

1-1 1
Rank of the matrix | 0 | is :
-1

(A) O B) 1 @ C) 2 (D) 3

2| The fraction )iﬂ is
x“+2

(A) Improper fraction (B) Proper fraction@® (C) Identity (D) Mixed
3 | The multiplicative inverse of (1,0)is :

A) (1,0)@ (B) (0.1) (®) (;{,0) (D) (0,-1)
4 | The roots of 2x* - 7x+3=0, are : @\\@

(A) Equal (B) Complex Q@Q@ Irrational (D) Rational @
5 | The value of (-i)° is : @

(A) -1 (B) 1(&@£ (C) i D) -i ®
6 | If A is a square matrix of or “and |4|=2 ,then |24|= :

(A) 16 @ ) 8 (C) 6 (D) 2

AN

7 | The number of elements of the powersetof A={a, {b,c} }are :

(A) 2 (B) 4 @ (€) 6 (D) 8
8 |[If Ac B, then :

(A) AUB=4 (B) ANB=B (C) Bud=4 (D) AUB=B

9 |1If w is acube root of unity, then value of (l+w-w’) is :

(A) 8w (B) 8w? (C) -8 @ (D) 8
10 | The converse of ~p —>qis :

(A) p—>g B) p>~q C) ~q—p D) g—>~p @
11 cos20=:

(A) 1-sin’0 (B) 1-2sin@ (C)®1-2sin’80 (D) 2sin’0-1
12 The G.M. between l and ;)—is :

a
(A) ++ab (B) #-- () i\/z ® O a
ab ab
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1-13 3
If cosx=—-7 . then the reference angle is :
V4 T /4 T
A) = B) — C) -— (D) -2
@ = ®) = o © -3 D) %
14| 1If sin@ <0 and cotd >0, then @ lies in quadrant :
(A) 1V B) 111 @ (C) 1 (D) 1
131 The value of sin'l(cos%) is equal to :
A e ®) = (©) é @)
{
16 | The relation between 4, G, H is : %O@)
28
¥ 2 2 '
= H = A = T
(A) G*=4H ® (B) 4G @% (€) HG (D) A>G<H
I7 | The number of terms in the expan (a+x)" is :
(A) n—1 B)(n) (C) n+2 D) n+1l@
B o . O
ab ‘
(A) cos% (B) sin% (©) cosg @ (D) sin%
19 | A die is thrown, what is the probability to get 3 dots :
1 1 1 2
— B) - C) — D) —
(A) = (B) 3 ©) 5 (D) 3
24 The period of cos% is :
(A) 27 (B) 3=z (C) on (D) 127 @
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<oll No

11th Class Mathematics Subjective Paper Group 1 Lahore Board 2024
( To be filled in by the candidate)

MATHEMATICS
PAPER —I ( Essay Type )

2. Write short answers to any EIGHT (8) questions :

(i)
(1)
(iif)
(iv)
(v)
(vi)

(vii)

( Academic Sessions 2020 — 2022 to 2023 — 2025 )
224-1" Annual-(INTER PART - I)
GROUP -1

SECTION -1

Time Allowed : 2.30 hours
Maximum Marks : 80

16
Write the symmetric property and transitive property of equality of the real numbers.

Show that 27 =| zlz VzeC
Find out real and imaginary parts of (\/5 +i)?
Find the modulus of 1-i+/3

Construct truth table for (pA~p)—>q

If a,b are elements of a group G, then show that (ab)'=p"1g™!

1 2 0 0
If 4= and 4° = , find the values of ¢ and b.
a b 0 0

(viii) If A and B are square matrices of the same order, then explain why in

(ix) Define skew-hermitain matrix.

(x) Evaluate @

.general (A—B)*#A4%*-24B+ B?.

28

©

+?° +1 S

@
(xi) When x*+2x> + kx? +3 is divided by x @Qﬂ%remainder is 1. Find the value of *.

(xii) If a,p are the roots of xz—px— r@ 0, prove that (1+a)(1+ 8)=1-¢

3. Write short answers to any EIGHT

que tions : 16

(i) Define partial fractions
@) 1 -T2+ » then find B.
(x+3)(x+4) 3 x+4
(iii) Find the number of terms in AP if @=3;d=7and a,=59
. 111 . ) . a
(iv) If —,—,— are in G.P., show that common ratio is + /<
abc c
(v) Find the sum of —2—+%+1+2+ ————— )
(vi) If 5 is HM. between 2 and b, then find b.
(vii) Write (n+1)3(;)1(n—1) in factorial form.
(viii) Provethat "P.=n."'p_,
(ix) Determine probability of getting 2 heads in two successive tosses of balanced coin.
(x) Show that 8.10" -2 is divisible by 6 forn=1and n=2
10
(xi) Find the 6™ term in the expansion of (xz - —21)
x
(xii) Using binomial theorem, find value of 3/65 correct to three places of decimal.
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(2) 2 - A
4. Write short answers to any NINE (9) questions : %Pa kClty.Ol'g?w

(i) Verify tan29=—2ﬁgzi for 6 = 45°
1-tan“ @

1+cos@

=(cosecl + cot)>

(i) Prove the identity
1-cos@

(ili) If a,Bandy are the angles of triangle ABC then prove that tan(a + f)~tany =0

(iv) Express as product cos 66+ cos 36
(v) Prove that 1+ tanatan2a =sec2a

(vi) Prove that period of cosine is 27
(vii) Find the period of cosec10x

(viii) Draw the graph of the function y =cosx, xt[—% ; g]

(ix) Write formula for cos% and cos%

(x) Measure of two sides of a triangle are in the ratio 3 : 2 and angle including these
sides is 57°. Find the remaining two angles.

(xi) Define circum centre.

(xii) Without using calculator / table, show that 2cos”! 4 e %@g
<&

3
(xiii) Solve the trigonometric equation cos ec’6 = @

SECTION -1I @0
Note : Attempt any THREE questions.
a+A b c @
5. (a) Showthat | a b+4 ¢ 2b+c+/1) 5

a b ¢
(b) If the roots of the eq x? — px + g = 0 differ by unity, prove that p?=4g+1 5
6. (a) Resolve ——————;——— into partial fractions 5
(x=3)"(x+1)
() Find n sothat —2— 2 A\l be tlbA L bBwee\zgmtl b 5
an—l +bn~l

7. (a) Two dice are thrown. E; is the event that the sum of their dots is an
odd numbers and E, is the event that 1 is the dot on the top of the first die.

Show that P(E; N Ey)=P(E)) . P(E,) 5
‘ 1 131} 13501y 3
(b) It y=§+?(§j +~—3!—— (5) +———— prove that y“+2y-2=0 5
8. (a) Reduce sin @ to an expression involving only function of multiple of &, raised
to the first power. 5

B..7 5

(b) Provethat A= r2cotEcot L cot L
2 2 2

9. (a) Find the values of all the trigonometric functions of the angle —675°. 5

(b) Prove that sin”! i +sin”! i = cos™! —2—52 5
13 5 325
24-224-1-(Essay Type)-47500
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11th Class Mathematics Objective Paper Group 2 Lahore Board 2024

Roll No ( To be filled in by the candidate)

MATHEMATICS ( Academic Sessions 2020 — 2022 to 2023 - 2025)

Q.PAPER - I ( Objective Type )  224-1* Annual-(INTER PART ~1)  Time Allowed : 30 Minutes
GROUP - 1I Maximum Marks : 20

PAPER CODE = 6196
Note : Four possible answers A, B, C and D to ecach question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

I-1 | If A is a matrix of order 2 x 3, then order of A'A4 is :

(A) 3x3 @ (B) 2x3 (C) 3x2 (D) 2x2
2 | The equation x(x-1)=x*-x is :

(A) Conditional (B) Identity @ (C) Exponential (D) Radical
3 | The multiplicative inverse of —1 s :

(A) (1,-1) B) (0,-1) © (0.1)e (D) (1.0)
4 |If o isa cube root of unity, then (1+w+ * )8 = 1

(A) 0@ (B) 256 (©) 25@@ (D) 2560
5 | Which of the following sets has closure propert gﬁ/ addition :

A) {1} B) {0} @ Aé@ {0,1} D) {1,-1}

N

6 |1f |4]|=9 , then lA”is ; @\}b

O
(A) 81 /&%@;SQ (C) -9 D) 9 @

7 | The converse of p%\\\éis :

(A) ~p—>~q (@R €)q—->p @ (D) p—>~q
& |If A={}, then the power set of A is :

(A) ¢ (B) {0} © {1} D) {4} @
9 |If 4%*=2  then x=:

(A) 0 (B) -2 © -5 ® ©) -

10 | If AnB=A, then :
(A) Bc 4 (B) AcB@® (C) AuB=4 (D) BuAd=4

11 | sin(270°+8)=:
(A) siné (B) cosé@ (C) —cosb@ (D) -sind

12 | Which cannot be the term of a G P
(A) 1 B) -1 O e (D) i
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1-13 , 3
If smx=——2— , then the reference angle is :
Fia V4 piq T
A) -= B) — C) -— — 4P
(A) - (B) - () 2 (D) 3
14 | Which angle is quadrantal angle :
(A) 45° (B) 60° (C) 120° (D) 270°®
= With usual notation. ﬂ:
4R
(A) r (B) 7 (©) {@' D) n
16 | HM. between 3 and 7 is : ©)
% <&
&
(A) 5 B) 21 <Qé@§(C)iJi' (D)E?.

17| The number of terms in the expart@/%f (a+x)" is :
<

(A) n-1 Q§§§ (C) n+2 D) n+1@

18 | The period of cos2x @)

A) 7 @ (B) 2z (C) 4r (D) g

I911f r=n, then .=
(A) O B) l1e (C) n (D) n!

20 | gin™! 0)+ cos™! 0)=:

T

(A) 0 (B) 12‘-0 (€) (D)

&N
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sl No ( To be filled in by the candidate)
( Academic Sessions 2020 — 2022 to 2023 — 2025)
MATHEMATICS 224-1*" Annual-(INTER PART -1) Time Allowed : 2.30 hours
PAPER — I ( Essay Type ) GROUP -1I Maximum Marks : 80
SECTION -1
2. Write short answers to any EIGHT (8) questions : 16

(i) Show that 2% z% is a real number.

(i) Find the modulus of 1-i+/3

11
s +__
(iii) Simplify by justifying each step ‘1* ?
45

(iv) Check the closure property w.r.t. addition and multiplication for the set {0,~1}
(v) Determine whether the statement p A ~p is tautology or not.

(vi) Define semi-group.
- 4 1
(vii) If A=|1+i|,find 4(A)

i J @

(viii) Define reduced echelon form of a matrix, with exaj
2 -1
(ix) If A:\:q i ‘l verify that (A4~ by =(4' @§

%

J
(x) Discuss nature of roots of ox? ——10

2

(xi) Solve the equations x>+ 5 2x% +3 y‘2 =6

otof x*>+ px+q=0 issquare of other.

yHT (8) questions : 16

nal fraction.

. " . 1 A B C

(ii) For the identity — . = + + calculate the value of A.
(x=D@x-)@Bx-1) x=1 2x+1 3x-1

(xii) Find the condition tha

3. Write short answers to a
(i) Define proper r

(iii) Find the next two terms o 1,3,1,15]31, k-
(iv) How many terms are there in the A.P. in which ¢, =11, a,=68 ,d=3
(v) Find three A.Ms between 2.and 34/2..
(vi) Find the 12" term of 1+i, 2i, -2+ 2i, -
(vii) Show that '6Cy,+'%Cyo =""Cy
(viii) Evaluate l2(,'3
(ix) What is sample space and events?
(x) State principle of mathematical induction.
(xi) Calculate (9.98)4 by means of binomial theorem.

(xii) Prove that n! >2" 1 for n=4,5
4. Write short answers to any NINE (9) questions : 18

(i) What is length of an arc intercepted on a circle of radius 14 cm by the arms of a
central angle 45°?

(ii) Convert 54°45' into radians.
(Turn Over)
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4. (iii) If a,pB,y are angles of triangle ABC then prove that cos [.a ;'B ):sin-g—

(iv) Find the value of cos%
(v) Express sin(x+30°)+sin(x-30°) as a product.
(vi) Define periodic function and period of trigonometric function.
(vii) Find period of cosg—
(viii) Draw the graph of y =sinx from 0 to =.
(ix) State law of sines. |
(x) If sides of triangle are 16, 20, 23, find its greatest angle.

(xi) Showthat n=s tan%

(xii) Find value of cos( sin™

%)

(xiii) Show that tan sin ™! x)=—>
V1-x2 @
SECTION -I1 O@
Note : Attempt any THREE questions. @%
5. (a) Solve the system of equations by Cramer’@@ S
2x+2y+z=3
3x—-2y—-2z=1 @@
5 =2 i
xX+y-3z=2
(b) If a,f roots of x* - =0 form the equation whose roots are _]__:_cz_ and ]-lé 5
I+a 1+
4
6. (a) Resolve -l-—x—4— into partial fractions S
-Xx
(b) The sum of an infinite geo-metric series is 9 and the sum of the squares of its
terms is %l Find the series. 5
7. (a) Find the valuesof n and r when ™'C,_;:"C,:™C,,, =3:6:11 5
(b) If x is so small that its cube and higher powers can be neglected,
~ 2
then show that : iR ~l-x+ e 5
I+x 2
8. (a) Reduce cos®@ toan expression involving only function of multiples of 8, raised
to the first power. 5
(b) Provethat r;=4R cos% cosg—sin—g 5

9. (a) Show that the area of a sector of a circular region of radius r is %r29 , where @ is

the circular measure of the central angle of the sector. 5
| b4

b) Provethat sin”'— +cot™'3 == 5
® v5 4

25-224-11-(Essay Type)-47000
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RoliNa,

MATHEMATICS Intermediate Part-I, Class 11" (1%A 324-1v) PAPER:I GROUP-I

Time: 30 Minutes OBJECTIVE Marks: 20
Code: 6197

Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is
correct, fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or
filling two or more circles will result in zero mark in that question,

1- 1- A square matrix A is symmetric if A' = 3 3
(A)-A B)A ® (©)A (D) -A
2-  IfSin6 > 0 and Sec6 > 0, then terminal arm of 6 lies in quadrant
Al e (B)II (C) 111 D) IV
3-  Conditional equation 3x — 1 = 0 is true only if
(A)x=3 (B)x=-3 (C)x=§. (D)x=-%
4-  Reference angle always lies in quadrant
A @ B)II (C) 1l (D) 1v
S~ Cos(Sin'I —\;—:2.—) = @ @
1
(4) = ® B)1 © 5 ® =
V2 o 4
9
1 12 25 @
6-  The value of the determinant |0 3 1
0 0
(A)0 (B) <><Q§ €8 D24 @
7-  Sin(n-0) =
(A)Sino @ ~Sind (C) Cosb (D) —Cosb
8- If “n” is even, then'middle term of (a + b)" is
n th n i n ¥ n t
(A) (5 - IJ term (B) (5 + 1) term @ © (-2—) term D) (—2— - 2) term
9-  When 3x* +4x’ + x — 5 is divided by x + 1 , then remainder is
A)-7 ® (B)-6 (C)6 (D)7
10-  Converse of the conditional p — q is
A)q—r @ (B)~q=p ©)~p—~q M)p—~q
11-  Multiplicative inverse of —3i is
(A) 3i ®B) % i @ ©) --;-z' (D) -3i
12- A'NB =
(A) A'-B' (B) A'UB’ (C) (AnBY (D) AuB'@®
13- Inaquadratic equation ax* + bx + ¢ = 0, if b® — 4ac > 0 , then roots are
(A)real @ (B) equal (C) rational (D) irrational
14-  20"termof1,3,5,...is
(A) 38 B)3% e (© 40 (D) 41
(Turn over)

Page 9 of 44 Please visit for more Download PDF at: www.pakcity.org



15-

16-

18-

19-

20-
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V3is
(A) rational number (B) irrational number® (C) even number
I =
A A A
A) — B) — —-
() 5 ®) = © 55 ®
Factorial form of (n +2) (n + 1)(n) is
(n+2)! (n+1)! (n+2)!
AT B C) —=
( )(n+l)! ®) (n-2)! © n!
Tan® is a periodic function of period
In
B) X L)
A)r @ B) 5 (C) >
Let A={1,2,3}, then the number of its subsets is
(A)2 (B)3 €7
Ifa=2i,b=4i,thenG= Q
(A)+2V2i @ (B) +2i %z‘

A\
%5@
O@@

Page 10 of 44 Please visit for more Download PDF at: www.pakcity.org
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A
D) S

(n+2)! o
®) (n-1)!

(D) 2w

(D)8 ®

(D) +6i
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11th Class Mathematics Subjective Paper Group 1 Gujranwala Board 2024

MATHEMATICS Intermediate Part-I,, Class 11" (1%A 324) PAPER: 1 GROUP -1
Time: 2:30 hours SUBJECTIVE Marks: 80
Note: Section-I is compulsory. Attempt any three (3) questions from Section-II.
SECTION-I - 2
2. Write short answers to any EIGHT questions: {pa kClty,Org? 2x8=16)

i- Define binary operation.
ii- Show that the set {1, -1} possess closure property with respect to multiplication.
=21
iii- Simplify the following (1) *
iv-  Graph the number —5 — 6i on complex plane.
v-  Write the union and intersection of two sets A and B in set builder notation.
vi- Write down the difference between induction and deduction.
vii- Find the value of x and y if [XH : }=[ X 1}
-3 3y-4| |3 2
viii- If A and B are non-singular matrices then show that (AB) T=pIA!
ix- Write down two properties of determinant.
x- Solve the equation : x'? —x"* =0

xi- Showthat: X’ +y’ +2 = (x +y+ z)(x+toy+o’z)( x+m2y+®
<

xii- Show that (x —2) is a factor of x* - 13x? + 36
3. Write short answers to any EIGHT questions: 0@&% (2x8=16)
i- What is the difference between proper ratio tion and improper rational fraction?
2 K
ii- Find value of A and B if — X 1 __ <A B
( Oﬁ— 1 x-1

ili- Which term of the AP S, 2,

V- Find the sum of infinite :
v- Sumthe series: 3+5-7¥9+11-13+15+17-19...... -0 3n terms:
vi- If s " : and : are in harmonic sequence , find K.
K " 2K+1 4K -1
vii- How many permutations of the letters of the word PANAMA can be made, if P is to the
first letter in each arrangement?
viii- Find the number of the diagonals of a 6-sided figure.
ix- Two dice are thrown twice. What is probability that sum of dots shown in throw is 7?
X- Prove that the statement is true : n! >n?forn=4,5

xi- Use Binomial theorem, find the value of (.98)"2 up to three decimal places.

9
xii- Find the term involving a* in the expansion of (—-— - a]
X

4. Write short answers to any NINE questions: 2x9=18)
i- Define Radian.

ii- Sinf= % , terminal arm of the angle is in quadrant I. Find the values of Sec , Cosf

ili- Prove that Cos (g—— BJ = Sinf (Turn Over)
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iv- Prove that Cos11° +Sin11° = tan 56°
Cos11°-Sin11°
v- Express the product Sin12° Sin 46°as sum or difference.
vi- Prove that period of tangent is @
vii- Find the period of 3Sinx
viii- Draw the graphy=-Sinx , x e [-2n , 27 ]
ix- Find the value of 8 if Cos6 = 0.9316
x- Solve the right angle triangle in which y=90°, a=37°20", a=243
xi- Solve the triangle ABC , if B=60°,v=15°,b= 6
xii- Find the value of Cos™(1/2)
xiii- Solve the equation : Sin’x + Cosx = 1

SECTION-II

a+h b c @@

5. (a) Showthat | a b+A ¢ |=A*(a+b+c+)) %

a b c+A
(b) If a and P are the roots of x> -3x+5=0 ,%@ equation whose roots are :

l1-a - 1-B @

l+o 1+ @

<
X2 . o .
6- (a) Resolve —; int al fractions.
(x2 +4)(x+2)
64

(b) Finda,ofaG.Pif as = - and aq =-———
27 729

7- (a) Provethat: "'C +"'C_ ="C,

n’ +2n

(b) Show that : represents aninteger Vne N

8- (a) Prove that Sin6 +Sin36 + Sin50 + Sin70 ~tar. 40
Cos0 + Cos30 + Cos50 + Cos70

(b) With usual notations, prove that a?=b? + ¢* - 2bcCosa

9- (a) If tan0= —% , and terminal arm of angle 0 is in quadrant II. Find the values of remaining

trignometric functions.
8
-1

(b) Prove that tan™ -ii+ tan™! _3.+ tan

b L
5 19 4

213-1%A 324-32000
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Roll No.

MATHEMATICS Intermediate Part-I , Class 11 (1"A324-1v) PAPER:1 GROUP: II

Time: 30 Minutes QBJECTIVE Marks: 20
Code: 6198

Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is
correct, fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or
filling two or more circles will result in zero mark in that question.

- 1- a,bandcarein A.P, then

(A)2a=b-c (B)2b=a+c @ (C)2b=a-c D)2a=b+c
2-  Number of terms in expansion of (1 +x)" ! is

(A)n+2 ®)n+1 ©n @ ®)n-1
3-  His Harmonic mean between a and b then H =

2ab a+b 2ab a-b

(A) b o B) £y © s D) >
4-  Cos(tan™0)=___

(A0 ®B)le €)1 D)o
5 In %, degree of p(x) is less than degree of q(x), then fraction is

(A) proper @ (B) improper (C) combined (D) partial
6-  Set having no proper subset

A {} ®{1}® ©1{1,2} ®{1,2,3}
7-  Recurringdecimalisa ___ number.

(A) prime (B) rational @ (C) irrational @@ (D) integer
8- Sum of roots of equation x> — 5x + 6 =0

A6 ®)-6 © 5§<> ©)-5
9-  "Cg="Cy,, then value of n is O%Q?

(A)8 (B) 12 ) 16 )20 @

10-  Proposition is called bico@%
(A)p—gq (B)pﬂq@ (C)prq ®)pvg
<

11- Sinx=-;—,thenx=

T T T

(A) 5 o ) 7 ©) 3 D) 2
12-  Number of radians 1if semi-circie

@2 @)@ ©)2n K
13- 3%+43+4=0is equation.

(A) cubic (B) radical (C) reciprocal (D) exponential @
14- Period of tanx is

&) 3 (®) 37 ©)2n WEL
15- (- I)_ 221 = ey

(A1 (B)-1 (C)i D)~ @
16- If [; :]is singular, then x =

A4)-3 ®)3® ©1 @)1
17- Sum 4f opposite angles of cyclic quadrilateral is .

(A) 90 (B) 120 180 @ D) 270
18- Thematrix [1 2 3]is matrix.

(A) square (B) unit (C) null D) row @
19- Co-ratio of Cosine is

(A) sine (B) cosine (C) tangent (D) secant @
20~ IfA={1,2,3} and B= {4, 5} , which is not element of A x B

A (1,49 ® 2,4 ©a@E.49 D) 4,3 @

st
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11th Class Mathematics Subjective Paper Group 2 Gujranwala Board 2024

b..  VEMATICS Intermediate Part-I, Class 11" (1A 324) PAPER: I GROUP: II
Time: 2:30 hours SUBJECTIVE Marks: 80
Note: Section-I is compulsory. Attempt any three (3) questions from Section-1I.
SECTION-I
Write short answers to any EIGHT questions: 2x8=16)

-
ii-
iii-
iv-
V-
Vi-

Vii-

viii-

X1-

xii-

.

ii-
iii-

Write short answers to any EIGHT questions:

Write trichotomy and transitive properties of inequalities of real numbers.
Simplify (2, 6) + (3, 7)

Find the modulus of 3 + 4i

Express the complex number 1 +i+/3 in polar form

Write inverse , converse and contrapositive of the conditional ~ p—~q

Define groupoid.
IfA= [l’ 0], show that A* =1,
=1
o B+y 1
Without expansion verify that B y+a 1|=0
Yy o+f 1

If A and B are non-singular matrices, then show that (AB)' =B7A™
Find the three cube roots of —27

Use the factor theorem to determine if x — 1 is a factor of x> 5
If a, B are the roots of 3x°> - 2x + 4 = 0, find the value o<f>@~+52-
(04

0@@ (2x8=16)

3x

Resolve into Partial Fractions ———-—@32 -
0

Define the term Partial Fraction.
Write the first four terms of

ence,if a,—a,_, =n+2, a,=2

n

iv- If 5, 8 are two A.Ms bet andb, findaandb.
V- Find the sum of infinite-Geometric Series :’;-+%+ 1 +—32—+ 8. ..
vi- Find the 8" term of H.P ; L] ' L \ l, .........
PALENg
vii- Prove that "C,="C,_,
vili- Find the value of n when ''P, =11.10.9
ix- What is the probability that a slip of numbers divisible by 4 are picked from the slips bearing
numbers 1,2,3, ...... , 107
x- Prove that the inequality n®>n+3 for n=3, 4
xi- Calculate (9.9)° by means of Bionomial Theorem.
xii- Expand (1 —x)"2 upto 4 terms.
Write short answers to any NINE questions: (Z2x9=18)

i~

1i-

iii-

Findrwhen{=5cm , 0= %radian

n i3

tan— —tan—

Evaluate 3 = 67:
1+tan—-tan—

3 6

Prove that Sin(a + B) Sin(a — B) = Cos? — Cos’a
(Turn Over)
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iv-

vi-
vii-

viii-
ix-

Xi-

Xii-

Xiii-

5. (a)

(b)

(b)

(b)

(b)

(b)

& pakcity.org
(o] : [¢]
Prove that =05 —SI8  _ 370
Cos8° +8Sin8°
Express as product : Cos76 — Cos6
Define Periodicity.
Find period of 3C0335(—

Draw graph of Sinx when x €[ 0, x]

Find a and c for the right angle triangle ABC, when a =58°13", b=125.7 , y=90°
A vertical pole is 8m high and length of its shadow is 6m. What is angle of elevation of

the sum at that moment?
Solve the triangle ABC if b=125,y=53°, a=47°

Show that tan(Sin™x) =

1-x2

Solve the trignometric equation Sinx = —-—‘/22

SECTION-IT

Solve the sysiem of linear equations by Cramer’s Rule : @@
2x+2y+ z2=3

3x-2y-2z=1 &%

S5x+ y-3z=2
m#0

a
m

Show that the roots of (mx + ¢)® = 4ax w1l]’%al ifc=
O

The sum of an infinite Geéometric Series is 9 and the sum of the squares of its terms is §~l
5

Find the series.

Two dice are thrown. E, is the event that the sum of their dots is an odd number and E; is the event
that 1 is the dot on the top of the first die. Show that P(E; N Ey) = P(E;) - P(E2)

10
Find the term independent of x in expansion of [«/x +512—J
X

4n

16

Show that r, =4R Cos-— Sin— B Cos%

Prove that SinZ Sinzﬁ Sin= Sin
9 9 3

Find x if tan? 45° —Cos?60° = xSin45° Cos45° tan 60°

4,2 +Sn‘l~1§--£

Prove that Sin™ & —+Sin
5 65 2

214-1"A . '-31000
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Paper Code 2024 (1st-A)
Number: 2197 INTERMEDIATE PART-I (1 1" Class) Roll No:
MATHEMATICS PAPER-I GROUP-I o@ pakcity.org
TIME ALLOWED: 30 Minutes OBJECTIVE AXIMUM MARKS: 20
Q.No.1 | Yo have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero marKk in that question.
S.# QUESTIONS A B C D
1 [ Inverse of square matrix exists if it is: Singular Non—singular. Null Symmetric
2 | If A is skew symmetric, then A will be Symmetric Skew Hermitian Skew
o9 symmetric Hermitian
3 | Product of roots of x* =5x+6=0 is: =B 6 @ 5 =3
4 | Roots of equation cx” +ax+b=0are b2 —d4ac<0 | c*—4ab<0 | a*—4bc<0 | a®—4ac<0
complex if: 1)
5 1 1 ———==
x4+l x+1 x*-x+1 Bx+c B C B+C
(Numenator of x* —x+1) &
is: 0 360
6 | Nextterm of 1, 3, 12, 60, is 12 180 A(({\\ 2’_'0 o
7 | General termof —2,1,4,7, is: n-2 @ B3 2 3n-3 3n-5
8 | A die is rolled, probability that dots 1 4 <1 P 1 1
on top are greater than 4: E <2 & 5 Z '6'
L7
9 | Sum of odd coefficients in expansion %5\/ 16 18 6
of (1+x)* is: @ o
<Q)
10 | —1035° is coterminal with /@ > 60° 30° 45° @ 35°
11 | cos(a@+p) - cos(a—ﬂ)# T—Zcosa cos8 | 2cosa cosf 2sina sinf | —2sinasinf
12 v i 7
Period of secx is: m 2z @ 3z 2
Bl fsG-a) cos— @ sin> tan — cotZ
b T 2 2 2 2
‘ A
14 | tan[tafi ' (-1)] = | z _r
— 1 -1 @ 4 4
15 3 V.4 V4 T L
sinx cos¥=i—, then x = 5 3 L] 3 2
16 2; —] - i2 = 1
3x+y“i=1-2i", then valuegof x 1s: ; { & - 4 -
17 | 1f 2=+/3+i, then |2|= 4 V3-i ~3+i 2 @
18 | Inverseof p—>q is "P‘*"“I. ~qg—>-~ P ~q—>p q—>~p
19 | Set A contains 4 elements, then number 8 12 16 4
of elements in its power set P(A): ©
20 | {1, -1} is group with respect to: Addition Subtraction Square root | Multiplication
13(Obj)(Fe Y 7 ¥%)-2024(1%-A)-22000 (MULTAN)




AVEAIA R ARLAVAA A ALY K AR L/AN-1 UNRUVUI-1
TIME ALLOWED: 2.30 Hours l SUBJECTIVE | MAXIMUM MARKS: 80
NOTE: Write same question number and its parts number on answer book, as given in the question paper.
SECTION-I
2. Attempt any eight parts. 8X2=16
O | simplify (2,6)+(3,7) @) Separate into real and imaginary parts 1;
+i
(i) | Yz e C, prove that |-z|=|z|= |z]= |-zZ| (iv) | Find the multiplicative inverse of —3—5i .
(V) | Express {x|x & N A x <10} in descriptive and tabular form.
; — - =
(vi) | Show B— A4 by Venn diagram when 4 — B (vii) Find x and y if x+3 1 1 [y 1
-3 3y-4| |-3 2x
it g A =[ 1 _1], A= [ ! o], find the values of @ and b . | (%) Without expansion show that t a3
a b 01 4 5 6|=0
789
() | Find roots of the equation 5x> —13x+6 = 0 by using quadratic formula.
(xi) | Find four 4™ roots of unity. (xi)) | Solve the equation =l
3. Attempt any eight parts. 8X2=16
(i) | Define Rational fraction.
(if) Write in to partial fractions _____.2‘.2_ without finding constants.
(x*+1)? (1-x%)
(iii) | Write the first four terms of the sequence a, =(~1)" (2n—3)
(i) | How many terms are there in APinwhich g =11, a, =68, d=3?
() | Sumtheseries 1+4—7+10+13~16+19+22-25+ to 3n terms.
(vi) . 1 1 1
Find the sum of the infinite series -2— + Z + §+ -
(vii) | How many signals can be made with 4-different flags when any number of them af¢ to be used at a time?
i) | 1r "C, = "C,,, find n. - (©
(ix) | Determine the probability of getting 2 heads in two successive tosses of'a\balanced coin.
() | Prove 2+6+18+ +2x3 =31 for n=1, 2K
() | Calculate (21)° by means of Binomial theorem. @ (xi) 3
Expand (1+x)3 upto4 terms.
4. Attempt any nine parts. o> 9X%X2=18
® | In aright angle triangle ABC, prove that ‘W’KQ%) cos’f =1
(i) | Prove that cot®’ @ — cos® @ = cot? @ (@g@é (iii) | Provethat sin3a = 3sina -4sin’ «
(¥) | Express the product as sum or w sin12° sin 46° ™ Prove that tan(%—ﬁ) + tan 3T”+ 0) =0
(v) | Define period of a trigonometrie Function. V) | pind the poriodof coszs ic_
(viii) | Draw the graphof y =tanx for — 7 < x < 7. !
- i
() | Find area of triangle ABC, if a = 4.33, b = 9.25, y =56°44’ ;
(X) | Find R, ifsides of triangle ABC are =13, b=14, c=15 () | showthat 1. 1,1 1 '
2rR _ab _bc ca
(xii) Without using calculator, show that ¢og-! ; = cot™ g /4 Find the solution of gjn x cosx = _‘/_3
4 4
SECTION-II
NOTE: Attempt any three questions. 3X10=30 !
5{a) | Use synthetic division to find the values of p and g if x+1 and x—2
are the factors of the polynomial x* + px? +gx+6
(b) | Use matrices to solve the system of equations X, —2x, +X, =—4, 2x, —3x,+2x, =—6, 2x,+2x,+%, =5
6@ Resolve into partial fractions -
(x - 1) (x+1)
(b) | Show that the sum of 7 A.Ms. between a and b isequalto 7 times their A.M.
74@) | Findvaluesof » and 7 when "C,=35 "P, =210
() | Using Mathematical induction to show that 1+ 2 + 2% + +2" = 2™ _1 for all non-negative integers 7.
S Prove without using calculator sin19° cos11° +sin71°sin11° = %
(®) | Solve the triangle ABC in which @ =36.21, ¢=30.14 and A = 78°10"
9.(a - b) a4 .45 . 416 =
i Piowethat 200 Hc6d =1 tan @ + secd £ Prove that sin™ —+ sin™ =+ sin!' — = —
tand — sec@+1 5 13 65 2
11th
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11th Class Mathematics Objective Paper Group 2 Multan Board 2024

Paper Code 2024 (1st-A)
Number: 2198 INTERMEDIATE PART-I (11th Class) Roll No:
MATHEMATICS PAPER-I GROUP-II
TIME ALLOWED: 30 Minutes ] OBJECTIVE | MAXIMUM MARKS: 20
Q.No.1 | You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
S.# QUESTIONS A B C D
1 | Sum of binomial coefficients is: 2" @ n 2n n?
2 | Trigonometric ratio of —330" is same as: 60° 3° @ 45° 90’
3
§7£+ @ lies in quadrant: st nd 3rd 4" @
4 | Range of y =sinx is: (<L -1, D [-1,1] ) (-11]
S | In right triangle, no angle is greater than: 45° 80° 60° 20 @
6 Domain of y:sin"(x) is: —l<x_<_1. -12x21 -l1<x<l1 0<x<l1
7 1 4 7 T 7
If coxx = —, then reference angle is: — — - =
72 s 6 ; @ ; 2
8 | Every non-recurring, non terminating Rational Natural o Trrational Whole number
decimals represents: number n%m@' number @
9 | The multiplicative inverse of complex (0, -1) Q %d}fl) (-1,0) (0,0)
number (0, 1) is: 2
o I
10 | How many inverse elements correspond At 1@@ Two At least one Only .one
- 9
to each element of group? @ -
11 | Set containing elements A or B is @ ANB AUB AcB Bo A
denoted by: @ % O
12 | p— q is called converse of: 7 D 9 & P9 97l e@ ~q—>p
13 | The inverse of square matrﬁ&}if\sts if A | Singular Non-singular Symmetric Rectangular
is: ' o
L
14 | If A is a square matrix of order 2 x 2 T K|A' “l—!A| K? ]Al 2K|A|
then IKA l equals: K o
4
15 ¢ 4% = 1 h . 1 to: =d -2 1 1
[ —5 then x is equal to: 5 o 5 2
16 | The roots of the equation x> =5x+6 =0 2,-3 -2,-3 2,3 -2,3
are. | ‘
17 x- [mproper Proper Identity Equivalent
The fraction is:
x+1 [
18 1 1 ab —
G.M between 1 and — is: e + L =) a
a b ab ab
19 "
Zl is equal to: 1 o n @ n?
k=1
20 | 31,
a is equal to: 3 6 @ o 12
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AVALA A KR LAVAAA A RN D A AL LAN~L INVUUVI -1k

TIME ALLOWED: 2.30 Hours | SUBJECTIVE | MAXIMUM MARKS: 80
NOTE: Write same question number and its parts number on answer book, as given in the question paper.
SECTION-I .
2. Attempt any eight parts. 8X2=16
(i) | Simplify (2,6)+(@3,7) (i) | Find multiplicative inverse of a + ib R
(i) | Show that forall ze C, z7=|z[ (iv) | Simplify 3 é\ i
- |2 B e paKCIty.OI‘g
(v) | For A4={l,2,3,4}, state the domain and range of relation {(x, y)|x+p =5}
(vi) | Define Semi group. vii) | ¢ A=1- -2 3] . find A7
L-4 5]
o) 1 ge ,_[2 3] thenshowthat 44-34=4 | (X i '31
=5l it A=( 5 -3 B ,then find 4,,, 4,
|«2 <3 1]
() | Discuss the nature of roots of  2x*+5x+1=0 | &) | Evaluate (1+w—?*)*

(i) | solve by completing the square x> +6x—567 =0

3. Attempt any eight parts. _ 8§X2=16
() | Define Identity. Give one example.
(i) | Write 2x-3 in partial fraction form without finding constants.
e CNED g
¥(2x+3){(x~1)
(i) | 1f @, ,=2n—35,thenfind nth term of sequence. (iv) | Find b if 5,8 are two A.Ms. between a and b.
™) T y=1 WL , then find the interval in which the series is convergent.
= S———
v | e _1., _’___, _1__ are in H.P, then find k.
k 2k+1 4k-1

(vii) | In how many ways can 4 keys be arranged on a circular key ring?

(viii) | Find the number of diagonals of 12 sided figure.

) 11 peay=te pemy=t: panmy =L, then find P(4UB @
()2,()2«(10)3 ( ) <Q
X ; n n n-1 s s Xi 9
(®) | Provethat 4" > 3" +2"" for n=2 and n =3 (xi) Expand (54 — _x_) by binomial theorem.
S ¢ 3a
s ) e
(xit) If x isso small that its square and higher powers be ne &\\t'/ﬁcgﬁ show that /-1_‘_{= -
q g p V 1-x
A 1+x
4. Attempt any nine parts. N> 9x2=18
() | Prove that «in? % 4 sin? % + tan? % = 0 (i) | Showthat 1 _ D 2?0
sin P + sin 3 + tan i 2 @@ wowag + vy se
(iii) | Prove that sin(180° + ). sin(90° — a@&\—@b&z .cosa (V) | Find the value of cos105°
A
() | Show that $in3¢ _ cos30 _ (vi) | Write domain and range of y =sinx
sind _ cosé
(vii) | Find the period of tan 4x@ @) (viii) | Draw the graph of y =sinx from 0to 7

() | 1n A4BC if £=60°;, y =15"; b =46 , then find a and ¥

() | Find area of AABC inwhich @ = 45°17'; y = 36°41'; b = 254 | (x) | Define inscribed circle

(xii) | _. A 10 (xiii) | Define trigonometric equation. Give one example.
Find the value of gec sin"(—— i
2 )J
SECTION-1I
NOTE: Attempt any three questions. 3 X10=30
5.@) | Find the inverse of [2 b 0] and show that ' 47" A =1,
A=[1 1 0
i2 -3 5]
b 2 . 2 - 2 2 2
®) Prove that -i2—+ Sﬁ’x_b“_;_ﬁ)__ =1 will have equal roots, if ¢* =a’m*+b"; a#0, b+#0

- 2

2 ) y 5 i Pi i is 440.
6.(a) Resolve X *! into partial fractions. (b) T_he sum of three numbers in an A.P is 24 and their product is

2+l Find the numbers.

7.(a) | A number is chosen out of first fifty natural numbers. What is probability that chosen number is multiple of 3 or of 5.
(b) !

Show that - ]_ = . A where n and N are nearly equal.
2(n+N)| 9n—-N 4n
8.(8) Prove without using calculator that  sin19° cos11® +sin71%sinl1° =%

(b) | Find the area of the triangle ABC , when @ =35°17', y=45°13"and b=42.]
9.(a) | Prove the identity and state the domain of &  sin®6 + cos® 8 =1-3sin* @ cos® 8

(b

) 1

5 a1 .
Prove that tan™ L +tan”' = =tan™' — + tan” —
11 4] 2
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11th Class Mathematics Objective Paper Group 1 Rawalpindi Board 2024

HSSC-(P-1)-A/2024
‘;h‘(ﬁ Roll No (For All Sessions) PaperCode | 6 | 1| 9 | 7
Group-I Time: 30 Minutes Marks : 20

Mathematics(objective)

the Questions on the objective answer sheet provided.

Four possible @

nswersA.B,Canthoeadl

question are given. Which
sheet provided.

Note: Write Answers to
answer you consider correct, fill the corresponding circle A, B, C or D given in front of each question with Marker o Pen ink on the answer
11 Four 4® roots of 625 are:
(A) +4,+4i B) @ 1515 () 416, +16i (D) 425, +25i
: . x%+1
2. Partial fractions of ;= are of the form:
A B Ax B A B Ax+B Cx+D
n® ;7itici ® x+ix-1 © 1t3t7o1 @O T+l x-1
3. A Mbetweenx —3and x + 5is:
w @ x+1 (B) x—-1 (C) x—3 ) x+5
4. NotermofaG.P canbe:
N @ O (B) 1 () -1 () i
5. 876=
8! 8! 8! 8!
(A) 3 (8) 7 € a 0O @ ]
6 4" > 3"+ 4istrue forintegers:
n @ nz2 (B) nz3 (©) n@@@ D) n25
7 Ifsind < 0and cos@ > 0,then terminal arm of @ lies in quadrant:
(A) I (®) I © o {&Qi\om 0 ® WV
1 — cos@
e N
(A) sinf ® @ s %@?@ () cos @ ) cos? %
9. Rangeofy = tanxis: o
(A) :—TESySE ( 0o <y<0o (C) -_—Esxsf- (D) -0 x <
2 2 2 2
10, 2R sin x= (A) r (8) S (€ A 0 @ ¢
. L, V3 1 V3 1
1. Sin (cos i 7) = n @ s (B) ol © 7 (0) 1
12 Reference Angiefor 1 — 2sinx =0is: (A @ g ® 2 © g ) —2’5
13. Vv Z € C, whichone is true:
(A) g=—% (8) g =% wiora / z=% (D) X ==
14. A prime number can be factor of a square only if it occurs init at least.
(A) Once {B) @ Twice (C) Thrice (D) Four times
15.  If A and B are disjoint sets, then A-B =
(A) B B @® A © B-A (D) (o)
16. The converse of ~ p = gis:
W @ g-o~p (8) p-4q © q-p ) p-~q
17. pAqiscalled:
(A) @  Conjunction (B) Disjunction (C) Conditional (D) Equivalence
18. (AB)' =
(A) AtBt {8) AB (C) AB 0 @ BA
19. A square matrix A is anti-symmetric if
N @ A=-4A (B) A=A (C) A=A (D) A=-A
20, 1+w+w?=
2
Page 20'0f 44 © ° eria ‘ S




11th Class Mathematics Subjective Paper Group 1 Rawalpindi Board 2024
HSSC-(P-1)-A/2024

Roll N )
oll No __ (For All Sessions) ﬁpakcity. or 9? Marks

(GROUP-I) Time: 2:30 hours

Mathematics (subjective)

SECTION-I
2 Write short answers of any eight parts from the following: (8x2=16)

i Define a complex number. Is 0 a complex number?

Whether the set {0, —1} is closed or not w. 7.t addition and multiplication.
iii. Factorize: 3x2 + 3y?

iv. Find multiplicative inverse of —3 — 5i

v. Construct truth table of ~(p = @) = P

vi. Define monoid.

VII. H 4 H AR 4 5 2 — "‘1 5
Find the matrix X if: X [_2 1]_[12 3

If A and B are square matrices of the same order, then explain why in general (A
1 -
. IfAa=|1+i|find A(A)"

i
x.  Find four fourth roots of 81 @Q®
xi. Use the remainder theorem to find the remainder when x> — §§®+ _  ‘“vided by x —

Xi. I o, § are the roots of 3x? — 2x + 4 = 0, find the valy @

Vi +B)? # A® +2AB +B?

3. Write short answers of any eight parts from th ing: (8x2=16)
i Define conditional equation. <>
i. Resolve m into parti without finding constants.
i Find the first four terms of the sequence an = 5 55
iv. Determine whether —19is a term of 17,1549, --.
v.  Find the 5% term of the G.P 3,6, 12, ....
vi. Sum the series % +2V2 + % 44 O3
yi Prove from the first principle that P = 7. PR
yii. Find the value of n when "Cyz = g
i Determine the probability of getting dots less than 5 when a die is rolled.
v Provethatn! > 2" —1forn =4, 5
yi. Calculate (2.02)* by means of binomial theorem.
xi. Expand (1+ 2x)""upto 4 terms.
(9x2=18)

4. Write short answers of any nine parts from the following:

. Write values of trigonometric functions for 8 = :_22.,[ :

PiagdProve il o — cos?6 = cot?6 cos0 .



If.

Vi.
Vil

viii.

Xi.
Xii.

Xl

Note:
5.(a)

Prove that sin(@ + 270) = —cosé.
Prove that sin28 = 2sinf cos6.
Express sinl2” sin46’ as sum or difference.

Write domain and range of cos x.
Find period of sin §.

Draw the graph of tanx for x € (0,7)

B

Prove that r = (s — b)tan~.

Write any two half angle formulae.
When angle between ground and sun is 30°, flag pole casts a shadow of 40m long. Find height of top of flag.

®
SECTION-Ii @Q

Show that cos(sin™1x) = V1 — x2.

Sclve the equation 4 cos®x —3 = 0

<
&

Attempt any three questions. Each question carries @igﬁrks: (10x3=30)
If c and B are the roots of x2 — 3x + 5 =0, fequation whose roots are
% ng B Q
T T g <&

1 -1
Find therankof m rx|2 — 1

3 57 4/&3
Resolve ERTL T into partial fractions.

Find six arithmetic means between 2 and 5.

A die is thrown. Find the probabiity that the no. of dots on the top are prime numbers or odd numbers.
If x is so small that its cube or higher powers can be neglected, show that i—;—i— & ]l~x+ %xz

" Solve the triangle ABC, given that o= 35° 17 B = 45" 13, b = 421.
Reduce cos*8 to an expression involving only function of multiples of 6, raised to the first power.

A circular wire of radius 6 cm is cut straightened and then bent so as to lie along the circumference of a
hoop of radius 24 cm. Find the measure of the angle which it subtends at the center of the hoop.

19
= tan~ ! —
19

vl

Prove that; tan ™2 % + tan™?
826-11-A
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g
Mathematics(objective)

Note: Write Answers o the Questions on the objective answer s
answer you consider correct, fill the corresponding circle A, B,Cor

Roll No __

et

HSSC-(P-I)-A/2024

(For All Sessions)

Group-II

1.1

10.

.

12.

13.

14.

15.

16.
17.

18.

19.

f
Pze(\)ge 53 0]

A complex number 1 + i can also be expressed as:
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2(cos45° — i sin45°)

(A)  2(Cos45° + isin45°)  (B) V2(cos45° — i sin45°) (C)‘ VZ(cos45° + i sin45°) (D)
If Z is a complex number and Z = Z then Z must be:
n @ Real (8) Imaginary (C) Rational (D) Irrational
The set {(a, b)} is called:
(A) Infinite set () @ Singleton set () Emply set (D)  Set with two elements
Drawing conclusion from premises believed to be true is called:
(A) Proposition (B) Contradiction (€) Induction (D) O Deduction
If p is a logical statement p A ~p is always:
(A) @ Absurdity (8) Contigency (C) Tautology D) Conditional
fA=[a b c] thenorderof A*is:
(A) 1%3 B @ 3x1 (©) 3x3 (D) 1x1
R § P _
If the matrix [_2 1] is singular then A =
(A) 2 (8) 1 (03] -1 ()] ] -2
IF 43% = ~then x s equal fo: @@,
! - o2 D 6
N e -3 ® 6 © @Q&\ - o)
If w is cube root of unity, men  + w? = @
1
(A) 0 ®» @ -t @ ) 1 (D) =
From the identity 5x + 4 = A(x — D) + B(x'+ ofB is:
(A) -3 (8) () -2 (D) 2
Which of the term cannot be a term of G.
(A) -1 ( 1 (€ ® 0 (D) 5
n
Z K is equal to:
k=1
1)(2n+1 nn-1
n n+1 6 ® nn+1) ©) n(n+1)(2n+1) 0) ( )
2 2 6 2
n
- is equal to:
w @ "G (B) "Cro € mC (D) "G
In expansion of (a + b)*® middle term will be:
(A) 11th (8) 12th (C) 8th (D) 9th
9 4 n
Which of the following is NOT Quadrantal angle?  (A) 57 (B) 13m © @ 3" 0) 2
The angle 32'5 — 6 lies in quadrant: (A I (B) I C @ I (D) v
The range of sinx is: nNe -1 ® 10 © [0,2] o [-2.2]
abc S A
s b e abe B s C — D ® -
The radius of inscribed circle is: A = (8) 3 (C) — (D) S
1 L 1 i
L : - B — G — D -
Cos (sm ﬁ) is equal to: (A) : (B) y C @ 5 (D) 2
. T T 6 T D n
inx = =, then reference angle is: (A) - (B) - © - 0 e 3
A4 3 4 6
827-11-A
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SECTION-I

Write short answers of any eight parts from the followii:3:
Does the set {1, —1) possess closure property w.r.t multiplication? Construct the multiplication table.

If % = fl-, prove that ad = bc

(8x2:16)

Factorize a + 4b®

Simplify by expressing in the form a + bi : (2 +V=3)(3 +V-3)
If B = {1, 2,3} then write down the power set of B

Determine whether the statementp — (q = p) is a tautology or not.
Under what conditions, the determinant of a square matrix A is zero. Write any two conditions.

fa = [‘11 2] and A = [3 g] find the values of a and b.

1 :2" i] is hermitian matrix or skew-hermitiar matrix.

Find four fourth roots of 16. §/®
Show that the roots of equation will be rational px? —(p - a\g@%
Write short answers of any eight parts from the fbﬂoﬁqjé@
Define an identity with example.
ty p @@
&

Determine whether the matrix A = [ 1 i i

Solve the equation: x~2 — 10 = B2

(8x2=16)

Resolve into partial fraction ;-2,-1-_-—1

The 7th and 10th terms of an H. and f;respectively, find its 14t/ term.

1
e

W=

Find the sum of first 15 terms of geometric sequence 1,

Insert two G.M's between 2 and 16.
How many terms of the series—7 + (=5) + (—3) + -+ amount to 65
A card in drawn from a deck of 52 playing cards What is the probability that itis a diamond card or an ace?

Find n, if Tlca = nC12

How many different 4-digit numbers can be formed out of the digits 1,2,3,4, 5,

3 Diorpn = 1,2
4 ]

6, when no digit is repeated?

Use mathematical induction to prove that 3 + 3.5 + 3. 52 4 ... 4+ 3.5" =
Calculate by means of binomial theorem (2.02)*

Expand upto 4 ~ terms (1 — x) /2
Write short answers of any nine parts from the following: (9x2=18)
Find r, when [ = 56cm, 6 = 45°

Verify that sin28 = 2sinfcosf for6 = 45°

Write the fundamental law of trigonometry.
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iv. Show that cos(c +B) cos(x —f) = cos? —sin?p.
v. Express sin5x + sin7x as a product

vi. Define the period of trigonometric function.

Vi Write down the domain and range of tangent function.

vill. - Find the period of sin >
i. Solve the right triangle ABC, in whichy = 90°,a = 3.28, b =5.74.
x. Define half angle formulas for tangent.
xi. Define Herc's formula.

xii. Find the value of sin(tan™1(—1))

xii. Solve the equation  sin2x = cosx where x € [0, 2m]

SECTION-!
Note: Attempt any three questions. Each question carries equal marks: {10x3=30)
x 1 1 1
5(a) Showthat|l * 1 U e+ Dx—-1)°
11 x 1 @
1 1 1 x @Q

(b 22 e gy et L e + b
) Prove that = + -~ 1 will have equal roots if ¢ oé@ +b% a#0,b*0

3 Z..
6.(8) Resolve into partial fractions Spabr < @325

2x2-x-1

(b) The A.M between the two numbers ' eir positive G. M. is 4 find the numbers.

7.(3) Prove that "C, + "Cr_y = A
10

(b) Find the coefficient of x5 in the expansion of (x2 - Z—‘Q‘x-

8.(a) Reduce sin*@ to an expression involving only functions of multiples of @ raised to the first power.

(b) With usual notations, prove that r = s.tan®/,.tan By o-tan Y/

- n6+4cos6

9.(8) If cotd = 2, and @ is in quadrant 1 find the value o Sindr =
2 cos@—-sing

-1

12 = gin

i
wniw

(b) Prove that cos™? %2— + 2tan”
828-11-A
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1124 Warning:- Please write your Roll No. in the space provided and sign. Roll No -

( Inter Part—-1) (Session 2020-22 to 2023-25) Sig. of Student -------vermeeno-
Mathematics (Objective) Group I Paper (I)
Time Allowed:- 30 minutes PAPER CODE 2191 Maximum Marks:- 20

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allowed. Q.1
1) The modulus of Complex number 4 + 5i is
@A) Ja1 @ (B) ~41 ©) 31 (D) -+31

2) Multiplicative inverse of (2, 0) is

A B C D

@ (14,0) @ ®) (14, -2) © (17, 0) ()[_%’0)
3) If Ac B,then A B equals

(A) B B)A @ ©) 4 (D) B
4) Disjunction of two Logical statements p and q is @
(A) PVY (B) Prg (C) pV@Q (D) PMq

5) The solution of linear equation ax =b where %,@OIS

(A) x=ab B) x=ab™ %@%) x=a'b" D) x=a'p ®
1 2 -3 @
6) It A=| 0 -2 0|, then AjyWitPhe

-2 =2 1
A) 1 )3 )2 ® (D) 2
7) For square matrix A, if A'=A , then A is called
(A) Symmetric Matrix@ (B) Skew Symmetric — (C) Skew Hermitian (D) Hermitian Matrix

Matrix
8) The product of four fourth root of unity is

(GYR (B)-1@ SV (D) 4

9) if @ and B are roots of 7x’ —x—2=0, then a + f will be

A - Y ®) ¥ ® © % ) -%
P.T.O 1125 -- 1124 -- 11000(1)
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D) 5

(D) 20 @
(D)3 @

(D) P(E)-1

(D) | x|< -3

(D) 9

2
10) Rational fraction x—fﬁﬁ will be improper fraction if degree of Q(x) is
X

(A) 3 (B)4 ©2 @
1)Ifinan A.P. g =11, a, =68, d =3, then n will be equal to

(A) 30 (B) -20 (C) -30
12)1£3,9,27,... are in G.P. thenr =

(A) 1 (B) 2 (C) 4
13) The probability of non-occurrence of event Eis

(A) 1+P(E) (B) 1-P(E) @ (C) 1+P(E)
14) The expansion (1 - 3x)y2 will be valid if

] Q@
(A) |xl<—- (B) |x|<3 <§§>}>~ <5 ®
28
15)lfc0t6=7 . 0<0<Z | then co 2@%
SR\
~29 4 <o 29

&) —= ®) A © @
16) sin(@ +270°) =

(A) sind (B) ~-sin@ (C) cosd

17) Period of sin g is

(A) 67 @ (B) 3» (C€) -67
18) 448
abc
1 1
(A) — @ (B) ~ (© R
R r
19) cos (2 sin™! x) will be equal to:
(A) 2x* -1 (B) 1+ 2x? (C) 2x+1
20) Reference angle always lies in quadrant
(A) 11 B)1® O m

1125 -- 1124 — 11000 (1)
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1124 Warning:- Please, do not write anything on this question paper except your Rolil No. akcitv.or A
Mathematics (Subjective) (Session 2020-22to 2023-25)  Paper (I) paKcity. 9?
Time Allowed: 2.30 hours (Inter Part-1) Groupl Maximum Marks: 80
Section ----------=-remm- |
2. Answer briefly any Eight parts from the followings:- 8 x2=16
(i) Prove that 948 = e 08
b d bd
(ii)  Find the multiplicative inverse of (-4, 7) (iii) Factorize 9a’ +16b°

(iv) Prove that product of any two conjugate complex numbers is a real number.

(v) Showthat A-Bc AN DB
(vi) L.ek LG > '>be a group and a, b € G, then prove that (a- by'=b"q’

1 -2 3
(viiy If A=|-2 3 11, thenfind 4, and 4,
4 -3 2
(viii) Given /\:‘ and B are two non singular matrices, show that (4B)™ = B™' 4"
Gx) If 4= ; H-;} . then find A—(4) (x) Fi@ﬁ)@urth roots of unity.

> 0
(xi)  When x*> +2x* + kx + 4 is divided by x -2, th@%ﬁﬁ inder is 14. Find value of k

(xii) Show that the roots of equation Xt — 2@ x+3 =0 are real where m=#0
m ]

<&
3. Answer briefly any Ei rts from the followings:- 8 x2=16
(i) Resolve C;l;)g;f) into partial fraction (11) Define conditional equation.
(i) Determine whether -19 is term of AP {7.13,9, (iv) Find geometric mean between —2i and 8/

(¥)  Sum the infinite geometric series 44+ 232 +2 442 +...
, .. th & 121 - 10
(viy Find 127 term of H.P =, — . —, .. (vii) Evaluate "p,
39 6
(viits  How many ways can 4 keys be arranged on a circular key ring.

(ixy  Tiow many dragonals can be formed by joining vertices of 5 sided figure

y e
/ i
o ; . 3 . =3
i~y bxpand l.x -1 - - (xiy Expand upc four terms (L4 x)
A
| . ‘ . . 3 A
(xii) Find term involving x° in expansion of & e |
N ‘..)C}

1126 - 1124 - 11000 P.T.O
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4. Answer briefly any Nine parts from the followings:- 9 x2=18

(i)  Express 75° in radians. (ii) Prove that _Sin® ., ot6 = cosech
1 +cosé

(iii) If @, 3,y are angles of a triangle, then prove that cos(—a—-g—ﬁ) = sin{-

(iv) Without using calculator, find the value of tan 105°

(v) Prove that l:fﬂ%ﬁ ~tanZ (vi)Write the domain and range of y = cosx
sina
(vii) Define periodicity. (viii) Find the period of 3cos§-

(ix) Atthetopofacliff80m high, the angle of depression of a boat is 12°. How far is the boat from the

cliff?
(x) Find area of a triangle ABC inwhicha=18 , b=24 , ¢=130

(xi) Show that r, = stan g

(xii) Show that cos(sin™ x) =1 - x (xiii) Solve the equa&gﬁ@cosx =0 for general solution.
Section --------- %O
Note: Attempt any three questions. 0%{& (10 x 3=30)

(b) Solve the system of equati

4

6. (a) Resolve E—x»—‘,- into Partial Fractions.
-X
(b) The AM oftwo positive integral numbers exceeds their (positive) G.M by 2 and their sum is 20,

find the numbers.
7. (a) Prove that e, 0 =G,

~ 2 3
(by Ify= l+ 1-1’(—1) + ]‘3’5(—!-\ + ... then prove that Yy +2y-2=0
3 21\3 3 \3)

8. (a) Reduce cos'® to an expression involving only function of multiples of @, raised to the first
power.
(b) Provethat n+n+r—r= 4R

9 (a) Prove that \/T~ an_ﬁ_ = secd — tan @, where @ is not an odd multiple of z
1+siné 2
77 . .3 415
— —sin” = = COs" -
5 17

(by Prove that sin”'

1126 -- 1124 - 11000
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1124 Warning:- Please write your Roll No. in the space provided and sign. Roll No

( Inter Part —1I) (Session 2020-22 to 2023-25) Sig. of Student -—--emceeeeenen
Mathematics (Objective) (Group-II) Paper (I)
Time Allowed:- 30 minutes PAPER CODE 2198 Maximum Marks:- 20

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or
white correcting fluid is not allowed. Q.1

1) The transpose of a rectangular matrix is a

(A) Square matrix (B) Diagonal matrix (C)’(ectangular matrix (D) Scalar matrix
2) l-w+0’ =
(A) -1 B)o ©€) ~w D) -20 @

3) The quadratic equation with-roots 3—-+/3 , 3+4/3 is

(A) x* +4x+1=0 (B) x* -4x+1=0 €C) x-6x+6=0@® (D) x’-6x-6=0

@e R

4) The reflexive property of equality of real numbers is that }/ (A

(A) a=a @ (B) a#a (g)&%%@ (D) a>a
5 |Z[=

(A) 72 B)zZ @ @
O

6) {x|xeN, x<10} is the
(A) Discriptive method (B)

(C) 7? (D) z

[
ar method (C) Set builder method (D) Non-discriptive method
7) p:4<7,q:6>11, thedisjunction pvg is

(A) False (B) True @ (C) Not valid (D) unknown
8) The identity element of a set X with respect to intersection in P(X) is
(A) 0 (B) ¢ (C) Does not exist ORE

9) lfA=[x 1} and —1—=7, then x =
11 |A]
8 7 9
° @ - e D) 7
(A) - (B) 2 ©) - (D)

P.T.0 1127 - 1124 -- 11000 (4)
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)=
10) nrr=
(A) Rr? (B) rR? (C) RS?
11) 2cos™ A=
(A) sin'{24° -1} (B) sin™'{4* -2} (C) cos™' {24’ -1}@
12) cosx=—% and x €[0,7] then x =
3r Sw V4
— =5 2@
(A) 2 (B) 2 © 2

13) (x—-4)’ =x* -8x+16 is
(A) A linear equation  (B) Cubic equation (C) An equation

(D) yS e

(D) cos™' {4’ -2}

-

(D) oy

(D) An identity @

14) A number A is said to be the arithmatic mean between two @rs aandbif a,A,bis

(A) GP (B)AP @ (© HEO)
15)Ifa=3, r=2 then nth term of the G.Pis 0%@\3\9
A) 32 @ (B) 2.3™ %5@ (C)32"
16) n(n-D)(n—-2)(n-3)..(n~r+1)= @@
O

2!

!
(A) n'r! B : (8] T

17)The sum of the odd coefficients in the expansion (1+ x)® is

A4 @ (B) 8 ©) 12
18) 120°= radians
3z 2n z
(A) EX (B) "3‘" ©) A
19) 25in2(9—!-) =
2
(A) 1+sina (B) l-sina (C) 1l+cosa

20) The range of sinx is

A [1,1] ® ®) 1, [ © M
1127 - 1124 -- 11000 (4)
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1124 Warning:- Please, do not write anything on this question paper except your Roll No.

Mathematics (Subjective) (Session 2020-22 to 2023-25) Paper (1)
Time Allowed: 2.30 hours (Inter Part-I) (Group-II) Maximum Marks: 30
Section -----mmmmceemeen 1
1 Answer briefly any Eight parts from the followings:- 8 x2=16
il
(i) Prove the rule of addition §+§ w2 b;bc

(ii)  Separate real and imaginary parts (iii) Find the multiplicative inverse of —3—5i

4+5i
(iv)  For any complex number z & C, prove that z-z =| z|*

(v) IfS=1{0,1,2},thenshow that$ is an abelian group under addition.

(vi) Construct the truth table of the statement (p A~ p) — g

5 -2 5
(viiy It B=f 3 -1 4| ,then find B, and B,;.
-2 1 =2
(viii) If A is symmetric or skew-symmetric, show that Alis symm
: : . 5 2 (-1 5 @
(ix) Find the matrix X if X = S
—2 1] |12 3] @

9
(x)  Show that the product of all the three cube t %nity is unity.

(xi) If @,f are the roots of x* — px—p —crove that J+a)(1+f)=1-¢

(xii) Solve the equation x* —6x* +8= -

3. Answer briefly any Ei 'ts from the followings:- 8 x2=16

(i)  Define a Rational Fraction"with example.

3x* —4x -5

(ii) Resolve into partial Fraction without determining the constants ; :
(x=2)(x" +7x+10)

@iy If —1~,~1— and l are in A.P, show that b = 2

a b c a+c

(iv) If S, =n(2n+1), then find the series

(v)  A.M between two numbers is 5 and their positive G.M is 4. Find the numbers.
(vi) If'5is Harmonic Mean between 2 and b. Find b (vii) Find the value of n, when "B, : "', =9:]

(viii) A die is rolled, what is the probability that the top shows dot 3 or 4.

(ix)  Find the number of the diagonals of a 6 - sided figure.  (x)State the principle of Mathematical induction.
,\'(,

(xi)  Prove the formula 2+4-+6+...2n = n(n+1) (xii) Find the general term of [ % - EJ
a

1128 - 1124 - 11000 P.T.0
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4. Answer briefly any Nine parts from the followings:- 9 x2=18
(i)  State fundamental identities. (ii) Verity that sin’ % :sin’ —;i :sin? —i—; 'sin’ % =]12:3:4

(iii)  Prove that c0s330°sin600” +cos120°sin150° =-1 &
cotacot f—1
cota +cot 3
(vi)  Write down the Domair: and Range of secant function. (vii) Find the period of tan4x
(viii) Draw the graph of y=sinx from Oto 7

(ix) Define the angles of elevation and depression. (x) What do you mean by oblique triangle.

(iv) Show that cot(a+ f5) = (v) Prove that sin(a + ) —sin(a - f) = 2cosasin

(xi) By using law of cosine, find @ when a=7, b=3,¢c=5
(xii) Prove that sin” x= % ~cos™ x

i e B 1
(xiii) Solve the trigonometric equation cot” @ = =

NTTHT 1) | E— 1X

Note: Attempt any three questions. Q® (10 x 3=230)
@ 3% +x, %, =4
5. (a) Use Crammer’s Rule to solve the systems of ng Jations AL R 2x3 -4

—-x, +2x,~x; = 1
(b) Find the values of ¢ and b if -2 am@&% roots of the polynomial x* —4x? +ax+b
@ Px+2

<3>)Yx + l)(x 1)

[t

(a) Resolve into partial fractions

(b How many terms of the 9-6-3+0+..... amount to 667
7. {a) Vind values of n and Vs, W, wa¥ab:11
. e l 1.3 1 1354 2 3
(b)y If 2y=-= —?7 ,27+_3' —i;+ ..... then prove that 4y 'i—4) 1=0
l

8. (a) Provethat sinl0”-sin30”-sin50"- sin 70° = ).

(b) Using Law of tangents, solve the A4BC inwhich a=36.21; c= 30.14 ; p=T7810

2
. 41 - . ) )
9 @) If cosect = 1"_2_,._ m>0;0<l< 7"2 _ then find the values of remaming trigonometric
m

functions.

)+ tan™ (%): %
1128 - 1124 - 11000

(b) Prove that 2tan”™ (}

LI N\
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i Mathematics ["c’ K.No,1534 Plpo_r Code 3
| paper | l { Objective Type ) ! 1st - A - Exam - 2024 Sesslon (2022 - 24) & (2023 - 25)

0 Minutes | Inter(Part-1) | Marks : 20

=

Time

—

Note fru—;\oic.eﬁ-. B C,B to each question are given. Which cholce Is correct fill that circle in
:3:3 of ?t:;t( Question Nc;. on the Objective Bubble Sheet. Use Marker or Pen to fill the circles, Cutting
of filling two or more circles will result in Zero Mark In that Question.

QN“ WACB and A=B =0 ,thenn(A=8)=.... : (MO (B) n(A) (C) n(8) (D) n(A)~n(B) |

a | -

) [PV R, a=alscalled : c%pakcity_org%
(A) Symmetric (B) Transitive (@ Reflexive (0 Commutative

(3) | Modulus of § = 3i is : a
WVE (8 Vi6 (0 v”z'g__’(ﬂ J3i

—— e e ST ——— — NP —

(4) i pisalogical statementthenp A ~ p is always :
] (AP Absurdity (8) Contigency (C) Tautology (D) Conditional P RS

.-75) IIM=H l],and |A]l=4,thenx=.. : (A) 2 (B 3 (C) 4 (D)5

h(’d A matrix oforderm x 1 is called :
|
l(A) Row Matrix (8 Column Matrix (C) Diagonal Matrix (D) Null Matrix

' (7) ! Set containing elements of A or B is denoted by : (A) ANB (B) AS BmUB (D) BSA

(8) | Roots of the equation?—SnG:O are ...: (A)2,-3 (B)-2,-3 (C| 2,3 (D)-2,3
“igc)'_%?l'h:;r;ﬂ:rn_eaéﬁe‘a‘n between vZ and 3V2 is : (’) 2{2}1@) 3VZ (€) 4VZ (D) V2
- - \ \“/*

S0 [_X , a
, 2213 | Jp— : ’,\.’(\;\\1\\(\
| RY)
| (A) Proper Fraction & Improper Fractiqﬁ?,l’.&) “Identity Fraction (D) Mixed Fraction
| AN ’
i (11) | Degree of Constant Polynomial Is;.\-(;k?n B 2 (01 Mo
) ,L"Cr>'/
E (11) n 2‘\‘ \\\.{/
| n¥(h+1)? @ n(n+1) nn+1)(n+2) n(n-1
| Y K= ,,\(tyy:?J @ s Lo o 222
‘ PR 4 2 6 2

’ K=1
L AN
7 7

| (13) | solutionof Cot® = —= inquad s .: (A) g i
| (13) ution of Co "7 nquadIITis ..... : (A) 3 8 ) . (D)?

O
(14) | Numbers of terms in the expansion of (a +x )Znu are : (A)2n+2 (B) 2n+1 (C)2n (D) n+1

(15) | Probability of an impossible eventis....: (A) 1 (B) 0.5 (C) 0.25 (D)0

(16) |Tan( a—90°)= we ¢ (A) Cota (?)-Cota (C) Tana (D)-Tana

(17) | The value of Sln_l(Cosg) isequalto : (A)m/2 (B) 3m/2 (C) m/6 (ﬁ/;;

18 AW _ s(s-a) @ bc s i
(18) Sec(z) e & (A) ’ = (B) pr (€ 2 (D) -3

(19)

2 4 4
Period of Cot 3x Is ..... : —_— - -
eriod of Cot 3x Is (A) TU (B) 3 (€) 2 (8) 3

V3
(20) |if Slnx:*z— and x€ [0, 27], then x is :

) Sm 4m L 3n n 2n T 5m
P TR 40, 4 3! 3 (0)6'6
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| Roll No.
Mathematics { Subjective )
i

Nc;ll‘: It I8 compulsory to
any (9) Parts from Q.No.4,
its Part No.as given in the Question Paper,

BahawaIpUr Board-2024 lng’.;“"" |

T oy
:Q.No.z il | Show that v 1cC , 17+ |1

1634 - )de inter ( Part=1) | Sesslon (1011..2'“"“"6-6{‘~:iir

Int - A = Exam ~ 2024

Tl"‘ﬂ 2:30 "0"'” Mn’k' '. .*',-owm..;.

nm-mp-l‘ u‘ny (il - ﬁ) Parts each from Q.No, 2 and (),No.3 wlﬂl‘o“;;;;;;r
Attempt any (1) Questions from Part = 11L,Wrlte same Quostion No, and

‘ () | Show thatvay,23¢ €, 7,2, =2, 7,
| ' (iil) | Define Polar form of a Complex Number . ki
| . - SO— —
x (iv) | Prove thatz =z ilfzls real.
{ 5 S
1 (v) | Write down the Power setof {a,{b,c}}
| , oo e henf s s N ————
* (vi) | Show that (pAq) —p Is a tautology .
| e ey E— e NS— —
: (vil) | Solve the system of linear equations : (vill) | Write any two Properties of Determinant.
4%, +3%=5 ,3%1=-X,=7
; R (|,() Define Hermitian Matrix . - (x) Solve the equation by Completing Square
| x* +4x - 1085 = 0
‘ ~(xi) | Solve the equation by using quadratic | (xii) | Prove that :
| formula, 16x°+ 8x + 1= 0 (-14v=3) 4 (-1-v=3)*=-16
'Q.No3 | (i) | Define Conditional equation and give example .
i
(W Resolve — Into Partial Fraction. A\
x%=-1 A0\
AS)
(i) - ., Fql‘ '
fAp_o2 = 3n = 11, find the nth term of \u{e(s'e ence .
DN
(iv) Find A.M between 3\/§ and 5\/§§\.> )
()N
™ ¢S, =n(2n-1 ),theqj&;‘t\&ﬁ\?serles.
N
(vi) | with usual notatlo!\( ,\\g&tﬁat G2=AH
(vii) | Writen(n - d\l(?\/\-\z Juu{n=r+1) (vili) | What is the Fundamental Principle of
in the factatial form. Colneng
(ix) | Two Coins are tossed twice each, Find x) | calculate ( 0.97 )3 by means of
the Probability that the head appears on Binomisl Tiearem. -
the first toss and the same faces appear
in the two tosses.
(xi) | Find the term involving x‘ in the (xii) | Expand upto 4 terms, taking the values of
expression of( 3-2x )7 X such that the expansion in case is valid
1
for( 1—x )2
No.4 | (i I
Wb M Convert ? into the measure of Sexagesimal System ,
8
(i) |if tand = 75 and O€ TIT then find Sing and Cosb.
W) | vfa,p,y be the angles of a triangle , then prove tan (at+ B ) +tany =0
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(iv) | Find the Value of tan (105°) . |
(v) | Write Triple angle identity for Cos3a .
(vi) Find the Period of tanB .
X
(vii) | Find the Period of Sin ( 3 ) ]
L |
(viii) | praw the graph of y = 2cosx, x€ [0, 2n ]
(ix) | solve the right triangle ABC in which y = 90° ,a= 37° 20’ ,a=243
(x) | Define Angle of Depression .
(xi) By using Law of Cosine find the value of Cifa = ‘/§ -1, b= \/_3: +1,7= 60°
(xii) | Find the value of Cos ( Sin™" ( :}.2- ))
(xiii) | Solve the equation 1 + Cosx =0
Part- Il 3 x10 = 30
Q.No.5 | (a) at+l a a (5) i
Showthat | a a+! a = 12( 3a+1) !
a a a+l
(b) | Solve the Equation : C\’“ (5)
V5xZ+ 7x+2 -V4x2 + 7x +18 =x-4
2 AN X -
Q.No.6 | (a) x2+1 (D (5)
Resolve 511 into Partial Fra:c/i{ahs .
(b) If the numbers 1,4 and 3,grﬁ§uﬁtraded from three Consecutive terms of an A.P, the (5) |
resulting numbers are \i\q@.‘}‘-i ‘Find the numbers if their Sum is 21 .
Q.No.7 { (a) | Find the valuesﬂk‘? and r When "C, =35, and "p, =210 (5) :
N !
(b) | Use Binomial Theorem to show that (5) 1'
1+1+1.3+1.3.5+ _\/-2- l
4 4 . 8 4 . 8 : 12 Sannan J
6 2 2 2 2 f
Q.No.8 | (a) | Prove that smse ~Cos B=(Sin 8~Cos 6)(1-3Sin 6Cos 0) (5) {
. -1 1 - ) w
(b) | prove that: Sin 7 +Cot "3 = = (5)
Q.No.9 | (a) | Reduce S|n49 to an expression involving only function of multiples of 0, raised to the (5)
first power. i
2 2 {
(b) | The Sides of a triangleareX_ + X+ 1, 2X+1 and X" = 1. (5)
! |
Prove that the greatest angle of the triangle is 120° . ! |
_———— . J
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'MATHEMATICS |  PAPER CODE—-6197 | TIME : 30 MINUTES |

GROUP : FIRST 11" CLASS — 1% Annual 2024 | MARKS : 20

[T OBJECTIVE A

NOTE: | You have four choices for each objective type question as A, B, C and D . The choice which
you think is correct, fill that circle in front of that question number Use marker or pen to fill
@ : the circles. Cutting or filling two or more circles will result in zero marks in that question.

QUESTION NO. 1

1 | Factorial form of (n+1) (n) (n-1) is

(n+1)! (n-2)! (n+1)! n!
(A ) 2),. (B )(n+1)' (C) ( )(n+1)!
2 (2+1) Y I | s T —

(A) 4i (B) 8i ® (C)6i (D) 104
3 | Valueof sin>m/4+cos* 7t/ 8= —mmeemmmemn
(A) 0 ®-1 (@10 (0

4 | Sec(m/2—0)=--mmemmmeme
(A) -sec@ (B) - cosec @ (C) sec@ (D) cosecO ®
5 | Period of cosec x is

(A) 27® (B) w (C) 3m (D) /2
6 | Radius of escribed circle opposite to vertex A of triangle is --==---—---
A A A A
(A) s ) (B) o ® (Q e (D) e B
7 |Cosx= 7, thenx = ----c-e-oeee (\9\

8 | Sin(Cos™V/3/2)=
(A) /6 (B) 7/3 © = 4«(01‘;1}}0

9 |1 isnot -—-=--mm- -- number

(A) Odd (B) Real (G)‘ ?nme' (D) Rational
10 | Multiplicative inverse of complex m;rﬁber (0,1)

(A) (0,-1)® (B) (-1, 0)\ () (1,0) (D) (0,1)

11 | Set G is closed and assoaatn/e wuth respect to binary operation, then set G is called
(A) Groupoid (B) Semi-Group® (C) Monoid (D) Group

12 | Disjunction of two statements p and q is

(A) pA q B)pvqe ©p—q (D) peq

13 | Tabularformof {x |[ X ENAx+4=0}is

A {}® (B) {0} (C) {-4} (D) {0,4}
14 Asquare matrix A is symmetnc if Al =
(A) A (B) -A' C)A® (D) -A
15 | If order of matrix A is 2x5 and order of B is 5x7, then order of AB is ~-------=---
(A) 5x2 (B)7x5 (C) 7x2 (D) 2x7@
16 | a, B are roots of x> +2x+1=0, then a +ﬁ = SRTER—
(A) 8 (B) 4 (C) -2 (D) 2 @
17 | If w is cube root of unity, then (1+ w+ @?)? = ~=--reeemeeen -
(A) @ (B) w? Coe® (D) 1
18 22 5 + 2 , then value of B is
x2-1 x-1 x+1
(A) 1 (B) -1 @ (C) 2 (D) -2
Sum the series 1+i +11-+ ..........
A9 | =lm 10 100 10
(A) 10 ® (8) 9 (C) 9/10 (0) 5
20 | 5™ term of sequence whose general termis a, =n+(-1)" is
(A) 4 ® (B) -4 (C) 5 (D) -5
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11*" CLASS — 1°* Annual 2024

 MATHEMATICS [ e | (IR | Tivie: 2 HRs 30 MiNuTES

7]

GROUP : FIRST ) SUBJECTIVE PART MARKS: 80
SECTION-I :
QUESTION NO. 2 Write short answers any Eight (8) of the following @ pakc'ty'”g%" 16
i | simplify (7,9)+(3,-5)
ii | Find the multiplicative inverse of (-4 ,7)
i |Vz€C, prove that z.Z=| z |?
iv | Simplify i
! V | Write the power setof {9, 11}
Vi | Construct the truth table for (p A~ p) = q
vii L3 ]_[ ]
indx and y if | 4 3y-4]7|3 2
viii | If A and B are square matrices of the same order, then explain why in general
(A+B)? # A%+ 2AB + B?
6 7 8
iXx | Without expansionshowthat |3 4 5
2 3 4 »;\
X | Solve the equation x°-2x-899 =0 by completing the sqbuye
xi | Evaluate w®+w®+1 , > \ <>
xii | Find the condition that one root of equation x px ¥ q = 0is double the other.
QUESTION NO. 3 Write short answers any Elgbﬁfa) of the following 16
i | Define an identity Q\< NS
ii - 6x34+5x%2-7 PN ;Q,f X
ange — o _<|:?§\9Vproper raction
iii | Find the nexttwoterms 1,3,7,15,31, ---=-----
iv | If ap.3=2n-5, find the nth term of the sequence
v | Show that the reciprocals of the terms of the geometric sequence a,, a1r2, alr4, ---------- form
another geometric sequence
vi | Find AMbetween x-3 and x+5
vii | Find the value of n when "P, : ~p,=9:1
Viii | Find the value of n when "Cyo = 12:'11
ix | Determine the probability of getting 2 heads and 2 tails when a coin is tossed four times
X |prove 1+4+ 7+ ---mmm- +(3n_2)=n_(3_;1:}_)_
Xi | Calculate by means of Binomial theorem (0.97)°
 xii Expand (8 - 5)()'2/3 up to four terms.
L L
(P.T.O)
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QUESTION NO. 4 Write short answers any Nine (9) of the following 18
b 1f tang = 1—5 and terminal arm of the angle is in the III quadrant, find the value of sin@and cos&
il | Prove that sec’d- cosec’@=tan” 8- cot’d
| iii [If a,B,y areanglesofatriangle ABC, Prove that tan(a + B) +tany =0 o%pakcny Org%o
v Find value of sec 75° wnthout using tables
v | Prove that cos 20° + cos 100° + cos 140° =0
Vi | Write the domain and range of y=tanx
vii | Find the period of cosec 10x
viii | Draw the graph of y =sin g— for 0< x<2m
ix | Find the smallest angle of the triangle ABC, when a=37.34,b=3.24, c=35.06
X | Find area of triangle ABC, if a=18, b=24,c=30
Xi | Provethat rryryry=A?
Xii | without using calculator , show that 2 cos™* % =sin™? z:
xiii | Find the solution of equation cosecf =2 which lies in [0 Zxr]
SECT IOQ?IY S~
Note: Attempt any Three questions from this section;‘&,\*” - 10x3 =30

Q.5- (A) For what values of m, will the roo;s&ﬁhe equation

X -2(1+3m)x + 7 (3 + 2m§=\— 0 be equal

(B) | Solve the system Imear %quations by Cramer’s Rule

2x, X2 i X3 = 8

X+ 2x;+2x3=0
X - 2x2 -X3 =]

1
6- (A int : .
Q.6- (A) | Resolve into partial fractions a0 (b (o)
B = 3 1 2 Ay <- =
(B) |if y= =x + - x* + e X *and if 0<x , then show that x 2+

Q.7-(A) Prove that .Cr +" Cr—l = Cr

(B) | If x is so small that its square and higher powers can be neglected, show that

1—x _ 3x
Vi+x 2

Q.8-(A) | show that cos 20° cos 40° cos 80° =%

1 : .
(B) By using A= = bc sin @ drive the Hero’s formula

Q.9-(A) |if cotd= g and the terminal arm of the angle is in the I quad,

3siné+ 4 cos@
cos@ -sind

find the value of

a1 4 1 T
(B) Provethat 2tan™ - + tan® g = o
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PR

ATHEMATICS |  PAPER CODE — 6196 TIME : 30 MINUTES

GROUP : SECOND 11" CLASS — 1* Annual 2024 | MARKS : 20

[T OBJECTIVE L G A

OTE: | You have four choices for each objective type question as A, B, C and D . The choice which

you think is correct, fill that circle in front of that question number. Use marker or pen to fill
the circles. Cutting or filling two or more circles will result in zero marks in that question.

Q ESTlON NO.1 v@pakcity.org%a
1 [ if polynomlal x"=2x+2 isdivided by x—1 , then remainder is
(A) - B) 1@ o (D) 2
2‘ Partial fraction of (x-1;(x+2) = 3(x1—1)+ 112 then value of B is
| (A) 372 (8) 3/2 (C)2/3@ (D) -2/3
3 | Sum of n-arithmatic means between a and b is
a+b atb
(A) == (B) n(a+b) (€ (a+b) (D) n(*") @
4 | Next term of sequence 7,9, 12, ..ccenn. IS
(A)-14  (B) 15 (C) 6@ (D) 18
5 | Number of necklaces can be made from 6 beads
' |(A) 720 (B) 120  (C) 90 (D) 60@®
6 | Middle term in expansion of (3 +x)"
| (a) 812 (B) 54x°®  (C) 26x* (D) 108%
7| | One degree is equal to .........cccuuc.n. radian 4(\\
W2 BLe ©Z O )
180 90 L ©
8| | cot (90 ) 2 coussnsssiessonsionsss ./\g\‘ﬁ\\c’
' [{(A) tana @ (B) -tan (C) cota /(.ij/&\cﬁt’a
9| | Period of sin x/3 is (1 \k/
| (A) 2@ (B) 2m/3 (C)6m p@\y “(0) 37
A Lo Y & T— 0 )
ne —‘;,—’ (B) =2 ﬁ&) [E2e () [
ﬂ’ sec (cos™ = ) = e %-ﬁ\vw
w1z “®2e  ©s (D) 7/6
12 | If cos x = -4/3/2, then value of x is
A = @Eie (©F (D) —m/3
a<b = -a>-b, a,b€R propertyusedis
(A) Transitive (B) Additive (C) Multiplicative @ (D) Trichotomy
14 | If Z=1-i ,then [Z]| = cviririerennne
W2 ®-2 ©V-2 (@ v2®
15 | A and B are disjoint sets then
i | (A) AnNB=0® (B) AUB=0  (C)A-B=0 (D) B-A=¢
16 | Tabular formof {x [x E EA2 < x < 4}
) 2,3,4 (B){2,4 () (4@ (D) (@)
17 | The set A has m elements , Number of elements in power set of A
(A) 2™ (B)2"e (02™ (D) 2"
1 17 .
18 | Rank of [1 1] is
| (A) Zero B)1® (C)-1 (D) 2
1§ Determinant of [-5] is
(A) Zero (B) Not possnble (C)-5@ (D)5
zd a, ﬂ are roots of ax? ——bx+c 0, then a + B =-——men
mite ®-7 @2 ®-

117 (Obj) - T1Annual 2024  SEQUENCE-3 ( PAPER CODE— 6195 )
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11" CLASS — 1° Annual 2024 -

| MATHEMATICS | ez | IR MR TATRATIn T'M“”RS”M'””TES

7]

GROUP : SECOND | 2% SUBJECTIVE PART MARKS: 80 |
SECTION-I o@pakcity.org%o
QUESTION NO. 2 Write short answers any Eight (8) of the following 16
i | Simplify (5, -4) (- 3 -2)
i Separate into real and imaginary parts 42;752

iii | Provethat Z=2Z if Zisreal
iv | Simplify (a+bi)*
V | Write two proper subsetsof {a,b,c}

vi [ Showthat (p A q )= p is a tautology
Findx and y if 1 y 3] 2[ 1] [4 = 3

| Vili | Find the matrix X if [_2 1] X= [ 5 10]

vii

1 2 -3
ix |[If A= [0 -2 0] , then find A;; and Az
-2 =2 1 .
X |Evaluate w?®+w”+1 ] (\:)\

~\

Xi | Use remainder theorem to find the remainder when xz-\f\s‘xl#ﬁ is divided by x+1

Xii | Discuss the nature of the roots of equation 2x" —E& 120

<\ [ L \/
QUESTION NO. 3 Write short answers any ElghW the following 16
i | Define partial fraction resolution \ <0 3]
e 7x+25 F
i A g
S se =% Find the values of Aand B
e (x+3)(x+4) \ M x+4 7

iii | Write the first four terms of the following sequence , if a,=(-1)" n*

iv | Whichtermofthe AP 5,2,-1, cccvunucne. is -85 7

Vi il and % are in G.P. Show that the common ratio is :t\/%-

o=

’

vi | Showthat G* = AH ifa=2i,b=4i

vii | Find the value of n if "P; =30

viii | Find the number of the diagonals of a 6-sided figure

ix | Adieis rolled. What is the probability that the dots on the top are greater than 4 ?

X | Provethat 4*>3%+4 istruefor k=2,3

xi | Calculate (0.97)rby means of binomial theorem

xii | Expand up to 4 terms (1- x)¥* , taking the values of x such that the expansion is valid

(P.T.0)
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QUESTION NO. 4 Write short answers any Nine (9) of the following 18

! |Find €, when @ =65°20" , r=18 mm

3

it : 0,1 o_
It | Verify that 2 sin 45 + cosec 45° = "

iii | Without using the tables, find the value of sec (- 300)

cos 8%~ sin 8°

0
= tan 37
cos 8%+ sin 8° tan 3

iv | Prove that

V |[Provethat 1+tanatan2a =sec2«a

Vi | Write down the domain and range of sin x

Vii | Find the period of cot %

viii | Draw the graphof y=cosx for 0< x < 360°

ix | What is difference between right angle triangle and oblique triangle

X | Find the area of the triangle ABC, if a=200, b=120 ,y = 150°

Xi | Find the radius of in-circleif a=13 , b=14, c=15

H <1 5 .1 5
Xii | without using calculator , show that tan™ o =sin 2 =
xiii | Solve the equation sin x + cos x =0 \\(\()\
(Q)V
(;\'\\C’
SECTIONAI: )
Note: Attempt any Three questions from this sec\tiggf\@v 10x3=30

Q.5- (A) | Solve the equation V5x2 + 79"8'(’@’//"' V4x2 4+ 7x+18 =x-4 o%pakcity.org%c
) )

(B) |Use matrices to solve the/f\qj{[éﬁh\% system of equation
= (l«\\\* 3
2X1+ X2+ 3x3=3 B
X;+X2—2x3=0 \\X\\\

$4

-3XI—X2+X3='4

2
X
Q.6- (A) Resolve the following into partial fractions m
(B) |Find n sothat ;ni—::—:% may be the A.M. between a and b

Q.7-(A) |[A natural number is chosen out of the first fifty natural numbers. What is the probability
that the chosen number is multiple of 3or5 ?

6
(B) Expand G— xiz) by using binomial theorem

Q.8-(A) | show that cos 20° cos 40° cos 80° = %

(B) | Thesides of triangle are x*+x+1, 2x+1 and x*-1
Prove that the greatest angle of the triangle is 120°

s —sin9
Q.9-(A) | prove that : /ﬁ—o = sec - tan 6

Where 8 is not an odd multiple of g

(B) |provethat: cosA+ cos™B =cos? [AB-V1—A%+1-—B2?]

117 (Sub) - 1** Annual 2024
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AT

paper !

m have four choices fo, each

Sahiwal Board-2024

HEMATICS
Objective - (iii)

think is correct; fill thag circle in

9185

HS
SCA1™) 1 Annual 2024 Roll No  (Tobe filled in by the candidate)
Paper Code m

Marks: 20 Time: 30 Minutes

objective type question as A, B, C and D. The choice which you

pen t0 fill the circles. Cutting . ﬁfront of that question number in you answer book. Use marker or

lling up two or more circles will result no mark.

—
Q! Questions >
L1 A B
1. |2sin 45° + 5 cosec 45°= 1 1 3 ° 2
4+ 2 3
o 1
g The value of Se€C (sm il _ _\/E 1 5 A
- 2 2 2 <
T cl +a1 b’
3 n any triangle ABC, s 7 _ cos a cos B ® cos ¥ cos (B + a)
ac —
4 |[Ifa=1,b=Sthen AxH= % 5 5 @ 5
2
2
5, |sin(-300°) = _ ﬁ ﬁ 0
— 2 ]
= e ' T T n T
G |Ir S8 %= J2 » then reference angle is: s 2 ® 3 2
T Every non-recurring, non-terminating rational @@mal whole natural
decimal represents number. N) ()
© 0
8. |Py=_____ O@é\ 18 36 120 @
’ in| ~ S (-2,2] -2 -1, 1]
Range of SIn (EJ is: QQS@Q /2] [2-2] ( .
10. |Ifa_, = 3n — 11, then nth term is&© ¥ +2 3In—-5 @| 3n+S 3n-3
11 |(AUB)E = V7 AUB ACB AUB® | ACB'@
12. [The product of thgg)\s\ﬁ equation x* 2 3 1 -1
+2x+1=0,is .1
x I/ 1 -
3. |1 4° =1/ thenx= 7 % 1 e 2
10, 2 = 0 J-1
14| Rank of the matrix [0 1:] is [
k 4 +36 £24 £16 % @
2 If t4 k‘ =20 then k=
T6 A C B then complement of A in Bl A-B B;A ANB AUB
(B-Universal):
— 1 1 - ] |
17. | _A | is a partial fraction of: NER o e -
x-1 x+1 5
. 0 i 1 |
18. |(Z, +) has identity element:
is: ) @ 1,0 .
19. | Multiplicative inverse of 0,-1) € G is: / ©,1) , (1,0) (~1,0) (L)
. i +b 3 n nerpt n LN fy T n AT ek k .
20. [(r + 1) term in the expansion of (a+b) Lr)a b. Lrjd b r)a b U)"‘ b
L] is: —
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MATHEMATICS HSSC (11 1 Annual 2024
Marks: 80 Time:
Paper: | Subjective o :" ime; 2:30"
Note: Section B is compulsory. Attempt any THREE qucs(inns from Secti ;
SECTION - B a
Q2.  Write short . X2
(i) Facto:iu Q.am: RSN DeS (if) Define modulus ofnl «.omplcxbnumher_ =
A ylex num 1 i
(iil)  Find the multiplicative inverse of (~4. 7)- (iv) Express the eompies ™ P
form. v AR R .
(v) Writethe set {x|x € QA X’ =2). (vi) Convert (ANB) = AL )B' into logical fory
(vii) Define diagonal matrix and give an cxamP"c- -
(viii) Show that for a non-singular matrix A, (A7) T A | : e
(ix) Define co-factor of an element. () Solve ! —,x‘ »(; (xo— Xx -
(xi) Reduce x? - 10 = 3x I {0 quadratic form.  (xii) Show that X’ =¥ y Wy xx - .
03.  Write short answers to any Eight parts. _ X+ itlo peaper frau (8x2 .'i
(i)  Define improper fraction. o (i)  Change "7 per Iraction,
(i) Find 9 term of the sequence —3+~ 3~} (W) Fora” 2iy b= 41, show st Gha= 4 w3y
2 n
(v)  Find the first term of the geometric series if 8. = ("3)['5')
. N i) 16°C,="C
(vi) If ;' ¢ arein G.P, show that the common ratio is * | - (viD) +="C,,.find n,
(viii) How many triangles and diagonals can be formed by joining the vetices of 8-sided polygon?
(ix) Define cicular permutation.
3 l "
(x)  From the expansion of (—i{ - 5—) . find the sixth term from the end.
(xi) Expand (8 - 5,‘)'% up to four terms. (xii) Evaluate $f31 correct to three decimal places,
Q4.  Write short answers to any Nine parts. (Ox2 =
1
(i)  Express 8 = 120'40" in radians. @
(ii) Ifsin8= :—-'; and terminal arm of angle is in quad b@d tan® and cosf.
' & ; n
(iii) Find the value of sin(-300°). Prove that sin [ 0+ E) + cos(e + %) = Co§
(v)  Write down the half angle identity f . (vi) Define period of a trigonometric function,
2
(vii) Prove that period of sin funct n g (viii) Write down the domain and range for y=ty
(ix) Solve the right triangle Which y =90°, a=3.28, b= 5.74.
(x)  Write half angle f; sin(-}) and cos[ %) (xi) Define and draw an oblique triangle.
. . 4 -1 \/3- . . . .
(xii) Find the value of $in| cOS = (xiii) Find the solution x € [0, 2x], sinx = --3
SECTION -C
Note: Attempt any THREE questions. Each question carries (5 +5=10) marks.
Q5. (a) Solve the system of linear equations by Cramer's Rule.
2!|—h+la=' ’ x,+211+13=6 ' X1-le—l,=1
(b) Solve systems of equations. x + y = 5,x? + 2y2 = 17
x-10x+13
Q6. (a) Resoive G- TP~ Sc %5 into partial fraction.
(b) Show that the sum of 'n* A.Ms between a and b is equal to n times their A.M..
Q7. (a) Prove that"C, +°C,_, = "*'C,,
(b) M xis nearly equal to 1 then prove that px - q@ = (p - q)x**".
tan0+secO -1 " 120 12
— = -1
08. (a) Provethal (ung _secpiry o0 oecd (b) Prove that ™0 15" ]
09. (a) Ha+p+y=180%s
(a) B+y + Show that cota cotB + cotf coty + coty cota: = 1.

(b) Provethatr, + 1, + ry-r=4R
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